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B.A. Semester-11 Examination, 2022-23

PHILOSOPHY [Honours]

Course ID : 20612 Course Code : AH/PHI/202/C-4
Course Title : History of Western Philosophy-I1
[INEW SYLLABUS]

Time : 2 Hours Full Marks : 40

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.
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1. Answer any five of the following questions:
2x5=10
fasfeiie @-cien “nfb e Tex vie :
a) What is meant by innate ideas?
HZETS el W00 F (I 2

b) Write the name of any one book authored by
Berkeley.
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c) How does Locke define substance?

5 eI T M@l e ?
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d) What, according to Hume, are the three laws of

association?

REEE Mo SRREE 7R foqit F 2

e) What does Hume mean by impression?

o Jwel qwICe F (@I ?
f)  What is solipsism?

ST I A0 2

g) How does Kant define sensibility?

G Frera Hfarfen o e ?
h) What is cartesian doubt?
FEER AKRAM &0 F (I 2
2. Answer any four of the following questions: 5x4=20

fefaie @-@ie vafb amia Tea wie ¢

a) What, according to Locke, are the two kinds of
sense-experience? How does he distinguish
between primary and secondary qualities?

1+4=5
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b) Explain in brief Hegel's notion of dialectical
method.
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d)

What is the distinction between matters of fact

and relations of ideas according to Hume?
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What is an abstract idea? How does Berkeley reject

Locke's notion of abstract ideas?
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Explain Kant's distinction between analytic and

synthetic judgement.
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Explain Hume's theory of causality?
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Answer any one of the following questions:

10x1=10
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a)
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Discuss in detail the notion of skepticism after

Hume.
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b) Define knowledge after Locke. Give a brief
account of his theory of knowledge. 2+8
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c) What is a synthetic apriori judgement? How does
Kant demonstrate its possibility? 2+8
HFShE TS SR FICF A2 IO PO 7
AT IR FCACR 2
246/Phil (N) (4)



